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| : 1. (10%) (a) Find }1_}][20 W ST

symbol.

(b) Find lin% |2°4-1], where |-] is Gauss’
T

2. (10%) Find the constants ¢ and b such that the function

w2 -2, z<1 _
flz) = is differentiable at x = 1.
ar+b, x>1

3. (10%) If y = (z* + I)Si“gm, find dy/dx.

4. (20%) Find the integrations.

.3 .
(a)Jp{) T 1)573 dzx. (b)/sec:r; dzx. (c)/e’”cosx dx.

5. (10%) What is The Fundamental Theorem of Calculus?

6. (1 ()Ob> Investigate the convergence of the series.

OO
Xi—x 4’ n‘n‘
(a) 2 s 2 ar™, where a is a nonzero real number.
n= n=

7. (15%) Use a double integral to find the area of the region bounded by
0<z<8, y=0,y=22and zy = 8.

8. (15%) A business sells 2000 units of a product per month at a price of $10
each. It can sell 250 more items per month for each $0.25 reduction in

price. What price per unit will maximize the monthly revenue?




